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Day 2 — Solving Multi-Step Equations — Notes -0

Multi-step equations mean you might have to add, subtract, multiply, or divide allin one P(Ob’e"f' to ggﬁéimi
variable. When solving multi-step equations, you are still using inverse operations, which s like doing ;o
reverse order. However, your left and right sides should be complelely simplified (combined like terms cl'-. e e
distributed) BEFORE using inverse operations. Make it your goal to have a simplified equation thot looks like
equations below before using inverse operations.

Variable + constant = variable + constant o2X+ 4=x-3
Variable + constant = constant 2x + 4 = -3
Variable + constant = variable 2x+4=X

Multi - Step Equations with Combining Like Terms

Practice: Solve each equation, showing all steps, for each variable.
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Multi - Step Equations with the Distributive Property

.1a H i i

ctice: Solve each equation, showing all steps, for each variable.
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— Step Equations with Variables on Both Sides

a.5p-14=8p+4

b.8x-1=23-

Pracélce: Solve each equation, showing all steps, for each variable

7 -5P =
"']‘-l .—.apf
-\ -

_ﬁ:‘? &
)
i_b:k{)!

d.-7(1 +éx) =-7 + 8X

=T-92¢ = -7+ 8x
+42x +42x

I

0 = BOx
& &b

@

g. 45+ 24 = §[1 %)

—50-1 = 5-bx
H HAY

30 r X

—bb EV

FUx HX

\'lx-f =23
+

&\21 M
\‘2. 12

S)K:ZS

€.-39-6x=-5(x+7)-5

“H-lx=-Bx-3H-b

-3q - LQX = - E)X"
+40 f}?g

| - Lk =-Bx
¥ tlox

x|

h. 2(6 - 3x) =2—§(2x+8)

13- bx=A-gx-b

Ia Ly =

-H-g)é
+8¥. FGY

C.5x+34=-2(1-7x)

B +34 = -2 r14x
%

“
AU =-2 +9x
B 2

sl= i
4§
T4 =x)

f.-5(2x—T) + 5 = -4 — 8x

-10K+D rB=-y-gx

~1Dk+10 = -Y-§y
+1 0% £10y

10 = _of 4
1 +/Z 2 o

T
2
i -2+mx)%4)

< +5+5x =aY-10%-20

3“5&" E‘L 20

.g.’« Z?x =220
- =5

ARl =
& a3

X=-1

@

33

Scanned with CamScanner



